2.
! gx*-lox +3=0

- -3 =
SR CTEE RS

¥, -t
7-‘;31\ “lx
Wby —lDx
2x=1=0 or Yx-3=0
PR +3 41

22~ “asS

37, -
JGad g

Xt9 =33 _yien
-4 -y

X=9 p
2t g@ﬁ—. ¥ b
A~ k-4 = - + 2w\l

Qw2 -4-. .. :
L o 4L -
Yot "7-0-\‘-\\- it "-7_‘8:3 *'lb\,

- =
ey
Swr -Rwilb= 2a
Gu-Nu-2)0 ¢
- ‘\u \51
grd
Ry




.2 (omplebigthe Sguere
Solv;m> ax2+bx+ =0

ond i+ always gwes vs a
Sp lrminn affasd,fz«\’w;q:)

_ D
\o (om?\&\-t the squo -

® rued fo 39:\' (id of O\‘(Xl alone)
%MM . catont ™ 0 T ot vt
dvidethe b by 2, Then
S q vane W
fAdd TS NUm oer To kath Sidey

@ Gcdoe & o\l










8]

A 1
2% "0

AR VAN



	Page 1: Feb 23-2:11 PM
	Page 2: Feb 23-2:33 PM
	Page 3: Feb 23-2:39 PM
	Page 4: Feb 23-2:43 PM
	Page 5: Feb 23-2:47 PM

